
EE 230 —  HW 1.7               Name_________________________________________

Find total gain, GT = vo /vi, for the cascaded amplifier circuit shown below. Then reverse the order of the 
inverting and non-inverting amps and calculate the total gain again.  The op amps are ideal.

Note: The source resistance stays with the source and the load resistance stays at the final output— they 
do not move when the amps are swapped.  

as shown: GT = __________________________________________________. 
 
 
 
with amps reversed: GT = __________________________________________________

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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